MICROECONOMIC PROBLEMS

HOMEWORK #7, 12THOF APRIL 2005

Problem 1

The price elasticity of the shoe ties takes the value of –1.7 and is isoelastic. On Monday, when the price pertained at the level of 2.5 per pair, consumers bought 100 pairs. How much will they buy on Wednesday if the price was raised to 3 per pair?

Problem 2

In a small village the demand for bread was initially given by Q(p)=480-6p, while the supply is best described by Q(p)=120+3p, where p is the price in local currency. Some immigrants have arrived in the village, changing the demand by 10% at each price level. On the other hand, due to the bad harvest, the supply decreased by 15% for each price level. 

(a) What is the algebraic form of the new demand function?

(b) What is the algebraic form of the new supply function?

(c) What are the new equilibrium conditions (i.e. the price and the quantity)?

(d) What are the price elasticities of demand and supply at the new equilibrium?

(e) Present graphically the changes in the village.

Problem 3

We have three demand functions. For each of them find the price elasticity of demand (PED) for the price level of 1.2 and define which of the functions is isoelastic. Why?

Problem 4

The demand for the CDs takes the form of Q(p)=max{10-2p;0} among the young consumers and Q(p)=max{30-p;0} among the older consumers (p stands for the price). 

(a) What is the market price for the CDs? 

(b) What is PED for price of 8? 

(c) And what is it for the price of 25?

Problem 5

A stamp collector has bought on the auction the only three stamps of a very rare and practically priceless serie. He then immediately burnt one of them with the lighter making it a spectacular event in front of everybody else. What elasticity of demand is necessary to justify this action in terms of consumer rationality?

Problem 6

Sophie has the following tissue demand function: Q(p)=15-3p, where p is the price per package. Sometimes, however, Sophie gets a cold. Her demand function becomes then Q’(p)=2*Q(p). What happens to PED if the price per package is constantly 1?

Problem 7

Gasoline price in Florence has the PED of –0.5 when measured in liras and prices are given per liter of gasoline. What would happen to the price elasticity if the price did not change, but all of the sudden the gallon would be the volume measure (1 gallon = app. 4 liters)? And what would happen if we no longer used liras and applied euros instead (1 euro = app. 2000 liras)
Problem 8

In a small city located quite away from the rest of the world there were initially 100 inhabitants really loving diary products. Each of the inhabitants had the same utility function of Q(p)=20-5p, where p is the price per package. The equilibrium price pertained at the level of 2. Due to globalisation 10 inhabitants more have arrived to the city, but they had exactly the same preferences as the former group of diary consumers (taste unification is one of the globalisation characteristics). What is the impact on PED if the price is kept at the level of 2?

